



Oscillations of delay differential equations with variable coefficients

E. Jagathprabhav^{1*} and V. Dharmiah²

Abstract

The purpose of this paper is to obtain a sharp sufficient condition for the oscillation of the delay differential equation.

$$y'(x) + q(x)y(x - \tau) = 0, \quad x \geq x_0$$

where $q(x) \in C([x_0, \infty), R^+)$ which improves previously known results.

Keywords

Delay differential equation, Oscillatory property.

AMS Subject Classification

34G20.

^{1,2}Department of Mathematics, Osmania University, Hyderabad-500007, India.

*Corresponding author: ¹ jagathprabhav.e@gmail.com

Article History: Received 02 February 2020; Accepted 28 April 2020

©2020 MJM.

Contents

1	Introduction	489
2	Main Results	490
3	Example	492
	References	493

1. Introduction

Consider the delay differential equation

$$y'(x) + q(x)y(x - \tau) = 0, \quad x \geq x_0 \quad (1.1)$$

where $q(x) \in C([x_0, \infty), R^+)$ and τ is a positive constant. G.Ladas [1], R.G.Koplatadze and T.A.Chanturia [2], have proved that every solution of equation of (1.1) oscillates. If

$$\liminf_{x \rightarrow \infty} \int_{x-\tau}^x q(t) dt > \frac{1}{e} \quad (1.2)$$

R.G.Koplatadze and T.A.Chanturia [2], proved that differential inequation.

$$y'(x) + q(x)y(x - \tau) \geq 0, \quad x \geq x_0 \quad (1.3)$$

has no eventually positive solution if (1.2) holds.

This observation has been extensively exploited in the study of the oscillatory properties of solutions of various functional differential equations. See for example [3–5].

From [[6], Corollary 3.2.2], inequality (1.3) has no eventually positive solution if and only if Equation (1.1) has no eventually positive solution. By obtaining sharper sufficient conditions for oscillation of (1.1), we expect many of the above mentioned results can be improved.

Li [7] obtained a sharper sufficient condition by improving condition (1.2).

Theorem 1.1. Let $q(x) \in C([x_0, \infty), R^+)$ and let τ is a positive constant. Suppose that there exists a $\bar{x} > x_0 + \tau$ such that

$$\int_{x-\tau}^x q(t) dt > \frac{1}{e} \geq \bar{x} \quad (1.4)$$

and

$$\int_{x+\tau}^{\infty} q(x) \left[\exp \left(\int_{x-\tau}^x q(t) dt - \frac{1}{e} \right) - 1 \right] dx = \infty \quad (1.5)$$

Then every solution of (1.1) oscillates.

Definition 1.2. A solution of equation (1.1) is said to oscillate if it has arbitrarily large number of zeros.

In this paper, we obtain new sufficient conditions for oscillation of solution of (1.1) which improve conditions (1.4) and (1.5).

2. Main Results

Let $q(x) \in C([x_0, \infty), R^+)$ and define the following sequences of functions:

$$q_1(x) = \int_{x-\tau}^x q(t)dt \geq x_0 + \tau$$

$$q_{k+1}(x) = \int_{x-\tau}^x q(t)q_k(t)dt \geq x_0 + (k+1)\tau \quad (2.1)$$

$$\bar{q}_1(x) = \int_x^{x+\tau} q(t)dt \geq x_0$$

$$\bar{q}_{k+1}(x) = \int_x^{x+\tau} q(t)\bar{q}_k(t)dt \geq x_0, \quad k = 1, 2, 3, \dots$$

Theorem 2.1. Let $q(x) \in C([x_0, \infty), R^+)$ and let τ be a positive constant. Suppose that there exist a $x_1 \geq x_0 + \tau$ and a positive integer n such that

$$q_n(x) \geq \frac{1}{e^n} \bar{q}_n(x) \geq \frac{1}{e^n} x \geq x_1 \quad (2.2)$$

and

$$\int_{x+n\tau}^{\infty} q(x) \left[\exp\left(e^{n-1} q_n(t)dt - \frac{1}{e}\right) - 1 \right] dx = \infty \quad (2.3)$$

where $q_n(x)$ and $\bar{q}_n(x)$ are defined by (2.1). Then every solution of (1.1) oscillates.

Proof. Assume, for the sake of contradiction, that equation (1.1) has an eventually positive solution $y(x)$. Then there exists a $x_2 \geq x_1$ such that

$$y(x-\tau) \geq y(x) > 0, \quad y'(x) \leq 0, \quad x \geq x_2$$

$$v(x) = \frac{y(x-\tau)}{y(x)}, \quad x \geq x_2 \quad (2.4)$$

Then

$$v(x) \geq 1, \quad x \geq x_2 \quad (2.5)$$

Dividing both sides of (1.1) by $y(x)$, for $x \geq x_2$, we obtain

$$\frac{y'(x)}{y(x)} + q(x)v(x) = 0 \quad x \geq x_2 \quad (2.6)$$

Integrating both sides of (2.6) from $x-\tau$ to x yields

$$\ln y(x) - \ln y(x-\tau) + \int_{x-\tau}^x q(t)v(t)dt = 0, \quad x \geq x_2 + \tau$$

or

$$v(x) = \exp\left(\int_{x-\tau}^x q(t)v(t)dt\right), \quad x \geq x_2 + \tau \quad (2.7)$$

It is easy to show that $e^c \geq ec$ for all $c \geq 0$, and so

$$v(x) = e \int_{x-\tau}^x q(t)v(t)dt, \quad x \geq x_2 + \tau \quad (2.8)$$

Set

$$v_1(x) = \int_{x-\tau}^x q(t)v(t)dt, \quad x \geq x_2 + \tau$$

$$v_2(x) = \int_{x-\tau}^x q(t)v_1(t)dt, \quad x \geq x_2 + 2\tau$$

$$v_n(x) = \int_{x-\tau}^x q(t)v_{n-1}(t)dt, \quad x \geq x_2 + n\tau \quad (2.9)$$

and

$$u(x) = v(x) - 1, \quad x \geq x_2$$

$$u_1(x) = \int_{x-\tau}^x q(t)u(t)dt, \quad x \geq x_2 + \tau$$

$$u_2(x) = \int_{x-\tau}^x q(t)u_1(t)dt, \quad x \geq x_2 + 2\tau$$

$$\vdots$$

$$u_n(x) = \int_{x-\tau}^x q(t)u_{n-1}(t)dt, \quad x \geq x_2 + n\tau \quad (2.10)$$

By (2.5),

$$u(x) \geq 0, \quad x \geq x_2, \quad u_i(x) \geq 0, \quad x \geq x_2 + i\tau, \quad i = 1, 2, 3, \dots \quad (2.11)$$

From (2.7) and (2.8), we easily obtain

$$v(x) \geq e^{n-1} v_{n-1}(x), \quad x \geq x_2 + (n-1)\tau \quad (2.12)$$

and

$$v(x) \geq \exp\left(e^{n-1} \int_{x-\tau}^x q(t)v_{n-1}(t)dt\right), \quad x \geq x_2 + n\tau \quad (2.13)$$

In view of (2.1), (2.10) and (2.11), (2.13) can be written as

$$v(x) \geq \exp\left(e^{n-1} \int_{x-\tau}^x q(t)u_{n-1}(t)dt + e^{n-1} q_n(x)\right),$$

$$= \exp\left(e^{n-1} \int_{x-\tau}^x q(t)u_{n-1}(t)dt + \frac{1}{e}\right)$$

$$\exp\left(e^{n-1} q_n(x) - \frac{1}{e}\right), \quad x \geq x_2 + n\tau$$

and so

$$v(x) \geq \exp\left(e^n \int_{x-\tau}^x q(t)u_{n-1}(t)dt + 1\right)$$

$$\exp\left(e^{n-1} q_n(x) - \frac{1}{e}\right), \quad x \geq x_2 + n\tau \quad (2.14)$$

By (2.2) and (2.11),

$$q(x) \left[v(x) - \left(e^n \int_{x-\tau}^x q(t)u_{n-1}(t)dt + 1 \right) \right]$$

$$\geq q(x) \left[\exp\left(e^{n-1} q_n(x) - \frac{1}{e}\right) - 1 \right], \quad x \geq x_2 + n\tau$$



or

$$q(x) \left[u(x) - e^n u_n(x) \right] \geq q(x) \left[\exp \left(e^{n-1} q_n(x) - \frac{1}{e} \right) - 1 \right], \quad x \geq x_2 + n\tau$$

By integrating both sides from $x_3 \geq x_2 + n\tau$ to $X \geq x_3 + n\tau$ we obtain

$$\int_{x_3}^X q(x) \left[u(x) - e^n u_n(x) \right] dx \geq \int_{x_3}^X q(x) \left[\exp \left(e^{n-1} q_n(x) - \frac{1}{e} \right) - 1 \right] dx \quad (2.15)$$

From this and (2.3), we have

$$\lim_{x \rightarrow \infty} \int_{x_3}^X q(x) \left[u(x) - e^n u_n(x) \right] dx = \infty \quad (2.16)$$

Since

$$\begin{aligned} e^n \int_{x_3}^X q(x) u_n(x) dx &= e^n \int_{x_3}^X q(x) dx \int_{x-\tau}^x q(t) u_{n-1}(t) dt \\ &\geq e^n \int_{x_3}^{X-\tau} q(t) u_{n-1}(t) dt \int_x^{x+\tau} q(x) dx \\ &= e^n \int_{x_3}^{X-\tau} q(x) \bar{q}_1(x) dx \int_{x-\tau}^x q(t) u_{n-2}(t) dt \\ &\geq e^n \int_{x_3}^{X-2\tau} q(t) u_{n-2}(t) dt \int_x^{x+\tau} q(x) \bar{q}_1(x) dx \\ &= e^n \int_{x_3}^{X-2\tau} q(x) \bar{q}_2(x) u_{n-2}(x) dx \\ &\vdots \end{aligned}$$

we have

$$\begin{aligned} e^n \int_{x_3}^X q(x) u_n(x) dx &\geq e^n \int_{x_3}^{X-n\tau} q(x) u(x) \bar{q}_n(x) dx \\ &\geq \int_{x_3}^{X-n\tau} q(x) u(x) dx \quad (2.17) \end{aligned}$$

Thus, we have

$$\begin{aligned} \int_{x_3}^X q(x) \left[u(x) - e^n u_n(x) \right] dx &\leq \int_{x_3}^X q(x) u(x) dx - \int_{x_3}^{X-n\tau} q(x) u(x) dx \\ &= \int_{X-n\tau}^X q(x) u(x) dx \end{aligned}$$

In view of (2.16), we have

$$\lim_{x \rightarrow \infty} \int_{X-n\tau}^X q(x) u(x) dx = \infty \quad (2.18)$$

This shows that either

$$\lim_{x \rightarrow \infty} \int_{X-n\tau}^X q(x) dx = \infty \quad (2.19)$$

or

$$\limsup_{x \rightarrow \infty} u(x) = \infty \quad (2.20)$$

If (2.19) holds, then

$$\limsup_{x \rightarrow \infty} \int_{X-n\tau}^X q(t) dt = \infty$$

By a known result in [8], every solution of (1.1) oscillates.

If (2.20) holds, then

$$\limsup_{x \rightarrow \infty} v(x) = \infty \quad (2.21)$$

On the other hand, integrating both sides of (1.1) from $x - \tau$ to x we have

$$y(x) - y(x - \tau) + \int_{x-\tau}^x q(t) y(t - \tau) dt = 0, \quad x \geq x_2$$

and so

$$y(x - \tau) > \int_{x-\tau}^x q(t) y(t - \tau) dt = 0, \quad x \geq x_2 \quad (2.22)$$

From this, by successively substituting $(n - 2)$ times and using the decreasing nature of $y(x)$, it follows that

$$\begin{aligned} y(x - \tau) &> \int_{x-\tau}^x q(t) q_{n-2}(t) y(t - \tau) dt \\ &> y(t - \tau) \int_{x-\tau}^x q(t) q_{n-2}(t) dt, \end{aligned}$$

and so

$$y(t - \tau) > y(t - \tau) q_{n-2}(x), \quad x \geq x_2 + (n - 2)\tau \quad (2.23)$$

By (2.2), for any $x \geq x_1 + \tau$ there exists a $\xi \in (x - \tau, x)$ such that

$$\int_{\xi}^x q(t) q_{n-1}(t) dt \geq \frac{1}{2e^n}, \quad \int_x^{\xi+\tau} q(t) q_{n-1}(t) dt \geq \frac{1}{2e^n} \quad (2.24)$$

By integrating both sides of (1.1) over $[\xi, x]$ and $[x, \xi + \tau]$, we have

$$\begin{aligned} y(x) - y(\xi) + \int_{\xi}^x q(t) y(t - \tau) dt &= 0, \\ x &\geq x_2 + (n - 1)\tau \quad (2.25) \end{aligned}$$

and

$$\begin{aligned} y(\xi + \tau) - y(x) + \int_x^{\xi+\tau} q(t) y(t - \tau) dt &= 0, \\ x &\geq x_2 + (n - 1)\tau \quad (2.26) \end{aligned}$$

Substituting (2.23) into (2.25) and (2.26), omitting the first term in (2.25) and (2.26) and using the decreasing nature of $y(x)$ and (2.24), we see that

$$\begin{aligned} -y(\xi) + \frac{1}{2e^n} y(x - \tau) &< 0, \\ -y(x) + \frac{1}{2e^n} y(\xi) &< 0 \end{aligned}$$



or

$$y(x) > \frac{1}{2e^n}y(\xi) > \frac{1}{4e^{2n}}y(x - \tau),$$

or

$$v(x) < 4e^{2n}, \quad x \geq x_2 + (n - 1)\tau \tag{2.27}$$

This contradicts (2.21) and completes the proof of the theorem. \square

Theorem 2.2. Let $q(x) \in C([x_0, \infty), R^+)$ and let τ is a positive constant. Suppose that there exists a $x > x_0 + \tau$ such that (1.4) and (2.3) hold. Then every solution of (1.1) oscillates.

Because (1.4) implies (2.2), Theorem 2.1 implies Theorem 2.2.

Remark 2.3. Theorems 2.1 and 2.2 improve Theorem 1.1.

Corollary 2.4. Let $q(x) \in C([x_0, \infty), R^+)$ and let τ is a positive constant. Suppose that, for some positive integer n .

$$\liminf_{x \rightarrow \infty} q_n(x) > \frac{1}{e^n}, \text{ and } \liminf_{x \rightarrow \infty} \bar{q}_n(x) > \frac{1}{e^n}, \tag{2.28}$$

where $q_n(x), \bar{q}_n(x)$ are defined by (2.1). Then every solution of (1.1) oscillates.

Remark 2.5. Condition (2.28) improves (1.2).

Corollary 2.6. Let $q(x) \in C([x_0, \infty), R^+)$ and let τ is a positive constant. If (1.4) holds, and for some positive integer n ,

$$\int_{x_0+n\tau}^{\infty} q(x) \left(e^{n-1}q_n(x) - \frac{1}{e} \right) dx = \infty, \tag{2.29}$$

where $q_n(x)$ is defined by (2.1). Then every solution of (1.1) oscillates.

Corollary 2.7. Let $q(x) \in C([x_0, \infty), R^+)$ and let τ is a positive constant. If (2.2) and (2.29) hold, then every solution of (1.1) oscillates.

3. Example

Consider the delay differential equation

$$y'(x) + \frac{1}{2e}(1 + \cos x)y(x - \pi) = 0, \quad x \geq 0, \tag{3.1}$$

clearly, for, $x \geq \pi$,

$$\begin{aligned} q_1(x) &= \int_{x-\pi}^x \frac{1}{2e}(1 + \cos t) dt \\ &= \frac{1}{2e}(\pi + 2\sin x) \end{aligned}$$

$$\liminf_{x \rightarrow \infty} \int_{x-\pi}^x \frac{1}{2e}(1 + \cos t) dt = \frac{1}{2e}(\pi - 2) < \frac{1}{e}$$

This shows that (1.2) and (1.4) do not hold. But

$$\begin{aligned} q_2(x) &= \int_{x-\pi}^x q(t)q_1(t) dt \\ &= \frac{1}{4e^2} \int_{x-\pi}^x (1 + \cos t)(\pi + 2\sin t) dt \\ &= \frac{1}{4e^2} (\pi^2 + 2\pi \sin x - 4\cos x) \\ q_3(x) &= \int_{x-\pi}^x q(t)q_2(t) dt \\ &= \frac{1}{8e^3} \int_{x-\pi}^x (1 + \cos t) (\pi^2 + 2\pi \sin t - 4\cos t) dt \\ &= \frac{1}{8e^3} (\pi^3 - 2\pi + (2\pi^2 - 8)\sin x - 4\pi \cos x) \end{aligned}$$

$$\begin{aligned} q_4(x) &= \int_{x-\pi}^x q(t)q_3(t) dt \\ &= \frac{1}{16e^4} \int_{x-\pi}^x (1 + \cos t) (\pi^3 - 2\pi + (2\pi^2 - 8)\sin t - 4\pi \cos t) dt \\ &= \frac{1}{16e^4} [\pi^4 - 4\pi^2 - 2(\pi^3 - 6\pi)\sin x - 4(\pi^2 - 4)\cos x] \end{aligned}$$

$$\liminf_{x \rightarrow \infty} q_4(x) = \frac{1}{16e^4} [\pi^4 - 4\pi^2 - 2\sqrt{(\pi^3 - 6\pi)^2 + 4(\pi^2 - 4)^2}] > \frac{22}{16e^4}$$

and

$$\bar{q}_1(x) = \int_x^{x+\pi} \frac{1}{2e}(1 + \cos t) dt = \frac{1}{2e}(\pi - 2\sin x)$$

$$\begin{aligned} \bar{q}_2(x) &= \int_x^{x+\pi} q(t)\bar{q}_1(t) dt \\ &= \frac{1}{4e^2} \int_x^{x+\pi} (1 + \cos t)(\pi - 2\sin t) dt \\ &= \frac{1}{4e^2} (\pi^2 - 2\pi \sin x - 4\cos x) \\ \bar{q}_3(x) &= \int_x^{x+\pi} q(t)\bar{q}_2(t) dt \\ &= \frac{1}{8e^3} \int_x^{x+\pi} (1 + \cos t) (\pi^2 - 2\pi \sin t - 4\cos t) dt \\ &= \frac{1}{8e^3} (\pi^3 - 2\pi - (2\pi^2 - 8)\sin x - 4\pi \cos x) \end{aligned}$$



$$\begin{aligned}
\bar{q}_4(x) &= \int_x^{x+\pi} q(t)\bar{q}_3(t)dt \\
&= \frac{1}{16e^4} \int_x^{x+\pi} (1 + \cos t) \\
&\quad (\pi^3 - 2\pi - (2\pi^2 - 8)\sin t - 4\pi \cos t) dt \\
&= \frac{1}{16e^4} [\pi^4 - 4\pi^2 \\
&\quad - 2(\pi^3 - 6\pi)\sin x - 4(\pi^2 - 4)\cos x]
\end{aligned}$$

$$\liminf_{x \rightarrow \infty} \bar{q}_4(x) = \frac{1}{16e^4} [\pi^4 - 4\pi^2 - 2\sqrt{(\pi^3 - 6\pi)^2 + 4(\pi^2 - 4)^2}] > \frac{22}{16e^4}$$

Then, by corollary 2.4, every solution of (3.1) oscillates.

References

- [1] G. Ladas, Sharp conditions for oscillations caused by delay, *Appl. Anal.*, 9(1979), 93–98.
- [2] R. G. Koplatadze and T. A. Chanturia, On the oscillatory and monotone solutions of the first order differential equations with deviating arguments, *Differentsial'nye Uravneniya*, 18(1982), 1463–1465.
- [3] M. K. Grammatikopoulos, E. A. Grove, and G. Ladas, Oscillations of first-order neutral delay differential equations, *J. Math. Anal. Appl.*, 120(1986), 510–520.
- [4] Q. Chuanxi and G. Ladas, Oscillations of neutral differential equations with variable coefficients, *Appl. Anal.*, 32(1989), 215–228.
- [5] G. Ladas and C. Qian, Oscillation in differential equations with positive and negative coefficients, *Canad. Math. Bull.*, 33(1990), 442–451.
- [6] I. Gyori and G. Ladas, *Oscillation Theory of Delay Differential Equations with Applications*, Clarendon, Oxford, 1991.
- [7] Bingtuan Li, Oscillations of delay differential equations with variable coefficients, *J. Math. Anal. Appl.*, 192(1995), 312–321.
- [8] G. S. Ladde, V. Lakshmikantham, and B. G. Zhang, *Oscillation Theory of Differential Equations with Deviating Arguments*, Marcel Dekker, New York, 1987.

ISSN(P):2319 – 3786

Malaya Journal of Matematik

ISSN(O):2321 – 5666

